List of Commercial Properties to be e-auctioned on 21.10.2023								
Sr No.	Auction ID	Sector/ Urban Estate	Plot No.	Category & Size in Mtrs.	Area in Sq.Mtr	FAR	Reserve Price	EMD
				Rewari				
1	85811	Brass- Market, Rewari	88	DSS Site with basement (eAuction) (12.00X4.00)	48	1.56	14712800	735700
2	85812	Brass- Market, Rewari	98	DSS Site with basement (eAuction) (12.00X4.00)	48	1.56	14712800	735700
3	85813	Brass- Market, Rewari	100	DSS Site with basement (eAuction) (12.00X4.00)	48	1.56	14712800	735700
4	85814	Brass- Market, Rewari	103	DSS Site with basement (eAuction) (12.00X4.00)	48	1.56	14712800	735700
5	85815	Brass- Market, Rewari	108P	DSS Site with basement (eAuction) (12.00X4.00)	48	1.56	16184000	809200
6	85816	Brass- Market, Rewari	125P	DSS Site with basement (eAuction) (12.00X4.00)	48	1.56	16184000	809200
7	85817	Brass- Market, Rewari	134P	DSS Site with basement (eAuction) (12.00X4.00)	48	1.56	16184000	809200
8	85818	Brass- Market, Rewari	27	SCO (Triple Storyed With Basement) (eAuction)(5.5 X 22.00 Sq. Mtr.)	121	3	26048900	1302500
9	85819	Brass- Market, Rewari	31	SCO (Triple Storyed With Basement) (eAuction)(5.5 X 22.00 Sq. Mtr.)	121	3	26048900	1302500
10	85820	Brass- Market, Rewari	141P	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	11632000	581600
11	85821	Brass- Market, Rewari	142P	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	11632000	581600

12	85822	Brass- Market, Rewari	146	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
13	85823	Brass- Market, Rewari	147	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
14	85824	Brass- Market, Rewari	148	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
15	85825	Brass- Market, Rewari	176	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
16	85826	Brass- Market, Rewari	177	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
17	85827	Brass- Market, Rewari	178	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
18	85828	Brass- Market, Rewari	179	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
19	85829	Brass- Market, Rewari	180	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
20	85830	Brass- Market, Rewari	204	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
21	85831	Brass- Market, Rewari	205	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
22	85832	Brass- Market, Rewari	206	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
23	85833	Brass- Market, Rewari	207	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
24	85834	Brass- Market, Rewari	208	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
25	85835	Brass- Market, Rewari	209	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
26	85836	Brass- Market, Rewari	210	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800

27	85837	Brass- Market, Rewari	211	Booth Without Basement with storage on FF (2.78 X 8.25 Sq. Mtr.)	22.94	2	10574600	528800
28	85838	Brass- Market, Rewari	238	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
29	85839	Brass- Market, Rewari	270P	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	2130100	96900
30	85840	Brass- Market, Rewari	271	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
31	85841	Brass- Market, Rewari	272	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
32	85842	Brass- Market, Rewari	280	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
33	85843	Brass- Market, Rewari	281P	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	2130100	96900
34	85844	Brass- Market, Rewari	320	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
35	85845	Brass- Market, Rewari	321	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
36	85846	Brass- Market, Rewari	322	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
37	85847	Brass- Market, Rewari	364	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
38	85848	Brass- Market, Rewari	365	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
39	85849	Brass- Market, Rewari	366	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
40	85850	Brass- Market, Rewari	376	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900
41	85851	Brass- Market, Rewari	377	Kiosk Site (eAuction) (2.75X2.75)	7.56	1	1936500	96900

42	85852	NMT, Rewari	33	Booth with basement with storage on First Floor(eAuction) (8.25X2.75)	22.69	2	1172400	58700
43	85853	NMT, Rewari	34	Booth with basement with storage on First Floor(eAuction) (8.25X2.75)	22.69	2	1172400	58700
44	85854	NMT, Rewari	35	Booth with basement with storage on First Floor(eAuction) (8.25X2.75)	22.69	2	1172400	58700
45	85855	NMT, Rewari	38	Booth with basement with storage on First Floor(eAuction) (8.25X2.75)	22.69	2	1172400	58700
46	85856	NMT, Rewari	39	Booth with basement with storage on First Floor(eAuction) (8.25X2.75)	22.69	2	1172400	58700
47	85857	NMT, Rewari	40	Booth with basement with storage on First Floor(eAuction) (8.25X2.75)	22.69	2	1172400	58700
48	85858	NMT, Rewari	41	Booth with basement with storage on First Floor(eAuction) (8.25X2.75)	22.69	2	1172400	58700
49	85859	NMT, Rewari	42	Booth with basement with storage on First Floor(eAuction) (8.25X2.75)	22.69	2	1172400	58700
50	85860	NMT, Rewari	43	Booth with basement with storage on First Floor(eAuction) (8.25X2.75)	22.69	2	1172400	58700
		Not	e 1 : Bidde	rs are requested to check the fina	al list before b	idding.		
Note 2: EMD is calculated on Reserve Price, the first round of bidding will start from Reserve Price fixed by HSVP.								
Note 3: The payment terms on these properties will be as per Para no. 34(A) of e-auction policy dated 20.07.2022								